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4 @Reasoningbybasantsir

Eight persons i.e. A, B, C, D, P, Q, R and S are sitting around a
rectangular table in such a way that four persons sit on each of the
four corner of the table and other four persons sit on the middle of
each side. The one who sits at the corner of table faces opposite to
center of table and the one who sits at the middle side of table faces
towards the center of table. Persons sitting on opposite sides are
exactly opposite to each other. Q sits immediate to the right of D.
Both R and C are sitting opposite to each other. Only one person
sits between A and B, who does not sit near to D. C sits near to Q.
Two persons sit between D and S, who faces to the center.
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Eight persons i.e. A, B, C, D, P, Q, R and S are sitting around a
rectangular table in such a way that four persons sit on each of the
four corner of the table and other four persons sit on the middle of
each side. The one who sits at the corner of table faces opposite to
center of table and the one who sits at the middle side of table faces
towards the center of table. Persons sitting on opposite sides are
exactly opposite to each other. Q sits immediate to the right of D.
Both R and C are sitting opposite to each other. Only one person
sits between A and B, who does not sit near to D. C sits near to Q.
Two persons sit between D and S, who faces to the center.

Who among the following sits 3rd to the right of P?

(a) A

(b)B

(©) Q

(dD

(e) None of these



Eight persons i.e. A, B, C, D, P, Q, R and S are sitting around a
rectangular table in such a way that four persons sit on each of the
four corner of the table and other four persons sit on the middle of
each side. The one who sits at the corner of table faces opposite to
center of table and the one who sits at the middle side of table faces
towards the center of table. Persons sitting on opposite sides are
exactly opposite to each other. Q sits immediate to the right of D.
Both R and C are sitting opposite to each other. Only one person
sits between A and B, who does not sit near to D. C sits near to Q.
Two persons sit between D and S, who faces to the center.

How many persons sit between P and Q, when counted to the left of
P?

(a) One

(b) Two

(¢) Four

(d) Either (b) or (¢)

(e) None of these

P
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Eight persons i.e. A, B, C, D, P, Q, R and S are sitting around a
rectangular table in such a way that four persons sit on each of the
four corner of the table and other four persons sit on the middle of
each side. The one who sits at the corner of table faces opposite to
center of table and the one who sits at the middle side of table faces
towards the center of table. Persons sitting on opposite sides are
exactly opposite to each other. Q sits immediate to the right of D.
Both R and C are sitting opposite to each other. Only one person
sits between A and B, who does not sit near to D. C sits near to Q.
Two persons sit between D and S, who faces to the center.

Four of the following five are alike in a certain way and hence they
form a group. Which one of the following does not belong to that
group?

(A R

(b)D

P

(d) C

(e)B
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Eight persons i.e. A, B, C, D, P, Q, R and S are sitting around a
rectangular table in such a way that four persons sit on each of the
four corner of the table and other four persons sit on the middle of
each side. The one who sits at the corner of table faces opposite to
center of table and the one who sits at the middle side of table faces
towards the center of table. Persons sitting on opposite sides are
exactly opposite to each other. Q sits immediate to the right of D.
Both R and C are sitting opposite to each other. Only one person
sits between A and B, who does not sit near to D. C sits near to Q.
Two persons sit between D and S, who faces to the center.

Which of the following is not true regarding P?

(a) C sits 2nd to the left of P

(b) P sits immediate to the right of B

(c) D sits opposite to P

(d) Two persons sit between P and R, when counted to the left of R
(e) All are true



Eight persons i.e. A, B, C, D, P, Q, R and S are sitting around a
rectangular table in such a way that four persons sit on each of the
four corner of the table and other four persons sit on the middle of
each side. The one who sits at the corner of table faces opposite to
center of table and the one who sits at the middle side of table faces
towards the center of table. Persons sitting on opposite sides are
exactly opposite to each other. Q sits immediate to the right of D.
Both R and C are sitting opposite to each other. Only one person
sits between A and B, who does not sit near to D. C sits near to Q.
Two persons sit between D and S, who faces to the center.

What is the position of R with respect to Q?

(a) 2nd to the right

(b) 2nd to the left

(¢) 3rd to the left

(d) 3rd to the right

(e) None of these

P
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Eight persons in three generation of the family. K is
daughter in law of G. M is father of L, who is
daughter-in-law of P. H is brother-in-law of G and
only son of F. T is grandson of F. H is unmarried. G
is male. M has two child.
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Eight persons in three generation of the family. K is
daughter in law of G. M is father of L, who is
daughter-in-law of P. H is brother-in-law of G and
only son of F. T is grandson of F. H is unmarried. G
is male. M has two child.

How is M related to G?

(a) Father

(b) Brother

(¢) Father-in- law

(d) Brother-in-law

(e) None of these
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Eight persons in three generation of the family. K is
daughter in law of G. M is father of L, who is
daughter-in-law of P. H is brother-in-law of G and
only son of F. T is grandson of F. H is unmarried. G
is male. M has two child.

How is K related to L.?

(a) Daughter

(b) Mother-in-law

(¢) Daughter-in-law

(d) Sister

(e) None of these
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Eight persons in three generation of the family. K is
daughter in law of G. M is father of L, who is
daughter-in-law of P. H is brother-in-law of G and
only son of F. T is grandson of F. H is unmarried. G
is male. M has two child.

Who among the following is son of M?

(a) H

(b) G

T

(d) L

(e) None of these
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‘work just not done’ is coded as ‘ds gi nj hq’
‘work same and equal’ is coded as ‘gi sw as xz’
‘same case just opposite’ is coded as ‘sw ds ap kI’
‘not opposite but equal’ is coded as ‘mn ap nj as’

What is the code of ‘opposite’ as per the given code
language?

(a) ap

(b) gi

(c) mn

(d) as

(e) None of these



4 @Reasoningbybasantsir

‘work just not done’ is coded as ‘ds gi nj hq’
‘work same and equal’ is coded as ‘gi sw as xz’
‘same case just opposite’ is coded as ‘sw ds ap kI’
‘not opposite but equal’ is coded as ‘mn ap nj as’

What is the code of ‘same’ as per the given code
language?

(a) ap

(b) sw

(c) mn

(d) as

(e) None of these
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‘work just not done’ is coded as ‘ds gi nj hq’
‘work same and equal’ is coded as ‘gi sw as xz’
‘same case just opposite’ is coded as ‘sw ds ap kI’
‘not opposite but equal’ is coded as ‘mn ap nj as’

What is the code of ‘case’ as per the given code
language?

(a) gi

(b) sw

(¢) Kkl

(d) as

(e) None of these
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‘work just not done’ is coded as ‘ds gi nj hq’
‘work same and equal’ is coded as ‘gi sw as xz’
‘same case just opposite’ is coded as ‘sw ds ap kI’
‘not opposite but equal’ is coded as ‘mn ap nj as’

What is the code of ‘equal work’ as per the given
code language?

(a) gi ds

(b) sw Kl

(c) as gi

(d) as sw

(e) None of these
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Seven students A, B, D, E, G, H and L have practical exams on
different day of the same week starting from Monday to
Sunday, but not necessarily in the same order. Only one
student has a practical exam on each day. There are more
than three students have practical exam after A. Only one
student has practical exam between A and H. There are three
students have practical exam between G and B. G has
practical exam before H but not immediate before H. There
are three students have practical exam between D and E, who
does not have practical exam in the last day of week.
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Seven students A, B, D, E, G, H and L have practical exams on
different day of the same week starting from Monday to
Sunday, but not necessarily in the same order. Only one
student has a practical exam on each day. There are more
than three students have practical exam after A. Only one
student has practical exam between A and H. There are three
students have practical exam between G and B. G has
practical exam before H but not immediate before H. There
are three students have practical exam between D and E, who
does not have practical exam in the last day of week.

On which of the following day L has practical exam?

(a) Tuesday

(b) Thursday

(¢c) Saturday

(d) Monday

(e) None of these
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Seven students A, B, D, E, G, H and L have practical exams on
different day of the same week starting from Monday to
Sunday, but not necessarily in the same order. Only one
student has a practical exam on each day. There are more
than three students have practical exam after A. Only one
student has practical exam between A and H. There are three
students have practical exam between G and B. G has
practical exam before H but not immediate before H. There
are three students have practical exam between D and E, who
does not have practical exam in the last day of week.

Who among the following has practical exam on Wednesday?
(a) A

(b) H

) G

(d) E

(e) None of theses




Seven students A, B, D, E, G, H and L have practical exams on
different day of the same week starting from Monday to
Sunday, but not necessarily in the same order. Only one
student has a practical exam on each day. There are more
than three students have practical exam after A. Only one
student has practical exam between A and H. There are three
students have practical exam between G and B. G has
practical exam before H but not immediate before H. There
are three students have practical exam between D and E, who
does not have practical exam in the last day of week.

How many students have exam between E and B?

(a) No one

(b) One

(¢c) Two

(d) Three

(e) More than three




Seven students A, B, D, E, G, H and L have practical exams on
different day of the same week starting from Monday to
Sunday, but not necessarily in the same order. Only one
student has a practical exam on each day. There are more
than three students have practical exam after A. Only one
student has practical exam between A and H. There are three
students have practical exam between G and B. G has
practical exam before H but not immediate before H. There
are three students have practical exam between D and E, who
does not have practical exam in the last day of week.

Who among the following has practical exam immediate
before H?

(a) E

(b) L

(¢)B

(dD

(e) None of these




Seven students A, B, D, E, G, H and L have practical exams on
different day of the same week starting from Monday to
Sunday, but not necessarily in the same order. Only one
student has a practical exam on each day. There are more
than three students have practical exam after A. Only one
student has practical exam between A and H. There are three
students have practical exam between G and B. G has
practical exam before H but not immediate before H. There
are three students have practical exam between D and E, who
does not have practical exam in the last day of week.

Four of the following five belong to a group in a certain way,
find which of the one does not belong to that group?

(a) A, G

(b H, E

¢oL,B

dE,A

(e B,D
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Statements:
J=Q>R=V>B=Y>KZ2M
Conclusion:

I: R>Y

II: J<B

(a) If only conclusion I follows.

(b) If only conclusion II follows.

(¢) If either conclusion I or II follows
(d) If neither conclusion I nor II follows.
(e) If both conclusions I and II follow.
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Statements:
Q=T<I>X2G>P=7Z<0
Conclusion:

I: ZS1

II: O>G

(a) If only conclusion I follows.

(b) If only conclusion II follows.

(¢) If either conclusion I or II follows
(d) If neither conclusion I nor II follows.
(e) If both conclusions I and II follow.



SBI PO Pre 2018
- PYP

4 @Reasoningbybasantsir

Statements:
S>F2B=DSP=ESL>Q
Conclusion:

I: E>B

II: B=E

(a) If only conclusion I follows.

(b) If only conclusion II follows.

(¢) If either conclusion I or II follows
(d) If neither conclusion I nor II follows.
(e) If both conclusions I and II follow.
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Point P is 8m west of point G. Point G is 16m east of point
T. Point H is east of point E. Point E is Sm northwest of
point L. Point A is 12m south of point F and point P is
midpoint between them. Point L is 8m south of point S.
Point H is midpoint between point L and S. Point T is 14m
south of point E.
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Point P is 8m west of point G. Point G is 16m east of point
T. Point H is east of point E. Point E is Sm northwest of
point L. Point A is 12m south of point F and point P is
midpoint between them. Point L is 8m south of point S.
Point H is midpoint between point L and S. Point T is 14m
south of point E.

If Point B is west of point A and south of point S, then
what is the distance between point A and point B?

(a) 13m

(b) 7m

(c) 6m

(d) Sm

(e) None of these
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Point P is 8m west of point G. Point G is 16m east of point
T. Point H is east of point E. Point E is Sm northwest of
point L. Point A is 12m south of point F and point P is
midpoint between them. Point L is 8m south of point S.
Point H is midpoint between point L and S. Point T is 14m
south of point E.

In which direction point L is with respect to point F?
(a) South

(b) South-east

(¢) North-east

(d) East

(e) None of these
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Point P is 8m west of point G. Point G is 16m east of point
T. Point H is east of point E. Point E is Sm northwest of
point L. Point A is 12m south of point F and point P is
midpoint between them. Point L is 8m south of point S.
Point H is midpoint between point L and S. Point T is 14m
south of point E.

What is the distance between point E and point H?
(a) 7m

(b) 3m

(¢) 4m

(d) Sm

(e) None of these



How many pairs of letters are there in the word
“SPARKLE” which has as many letters between them
as we have in the English alphabetical series (from both
forward and backward direction)?

(a) One

(b) None

(¢c) Two

(d) Three

(e) More than three

% @Reasoningbybasantsir



Which of the following is second letter from the left end of
the meaningful word formed by the 1st,3rd, Sth, and 6th
letter of the word “DRAWER” If more than one word is
formed mark X as your answer. If no such word is formed
mark Y as your answer?

(a) R
(b) D
(c) E
(d) X
(e) Y

uf @Reasoningbybasantsir
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A certain number of persons are sitting in a row facing to
the north. There is one person sits between N and M and
one of them sit at the extreme end of the row. There are
three persons sit between N and C. L sits 2nd to the left of
C. There are six persons sit between C and B, who sits 3rd
from one of the end. B sits 2nd to the left of R, who does
not sit at the extreme end. There are four persons sit
between O and N. More than three persons sit between M
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A certain number of persons are sitting in a row facing to
the north. There is one person sits between N and M and
one of them sit at the extreme end of the row. There are
three persons sit between N and C. L sits 2nd to the left of
C. There are six persons sit between C and B, who sits 3rd
from one of the end. B sits 2nd to the left of R, who does
not sit at the extreme end. There are four persons sit
between O and N. More than three persons sit between M
and O. There are two persons sit between K and R.

How many persons are sitting in the row?

(a) 12

(b) 15

(c) 18

(d) 17

(e) 16
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A certain number of persons are sitting in a row facing to
the north. There is one person sits between N and M and
one of them sit at the extreme end of the row. There are
three persons sit between N and C. L sits 2nd to the left of
C. There are six persons sit between C and B, who sits 3rd
from one of the end. B sits 2nd to the left of R, who does
not sit at the extreme end. There are four persons sit
between O and N. More than three persons sit between M
and O. There are two persons sit between K and R.

How many persons sit between R and C?

(a) None

(b) Four

(¢) Six

(d) Five

(e) Seven
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A certain number of persons are sitting in a row facing to
the north. There is one person sits between N and M and
one of them sit at the extreme end of the row. There are
three persons sit between N and C. L sits 2nd to the left of
C. There are six persons sit between C and B, who sits 3rd
from one of the end. B sits 2nd to the left of R, who does
not sit at the extreme end. There are four persons sit
between O and N. More than three persons sit between M
and O. There are two persons sit between K and R.

What is the position of K with respect to B?

(a) Immediate to the right

(b) 2nd to the left

(¢c) Immediate to the left

(d) 2nd to the right

(e) 3rd to the left



A certain number of persons are sitting in a row facing to
the north. There is one person sits between N and M and
one of them sit at the extreme end of the row. There are
three persons sit between N and C. L sits 2nd to the left of
C. There are six persons sit between C and B, who sits 3rd
from one of the end. B sits 2nd to the left of R, who does
not sit at the extreme end. There are four persons sit
between O and N. More than three persons sit between M
and O. There are two persons sit between K and R.

The number of persons sit to the left of L is same as the
number of persons sit to the right of  ?

(@) N

(b) O

(c) C

K

(e) None of these

>
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A certain number of persons are sitting in a row facing to
the north. There is one person sits between N and M and
one of them sit at the extreme end of the row. There are
three persons sit between N and C. L sits 2nd to the left of
C. There are six persons sit between C and B, who sits 3rd
from one of the end. B sits 2nd to the left of R, who does
not sit at the extreme end. There are four persons sit
between O and N. More than three persons sit between M
and O. There are two persons sit between K and R.

If T sits between B and R, then how many persons sit
between T and K?

(a) None

(b) One

(¢c) Two

(d) Three

(e) None of these

>
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Eight boxes i.e. M, N, O, P, Q, R, S and T are placed one
above the another but not necessarily in the same order.
Three boxes are placed between M and T. M is placed
either at the top most or bottom most position. Box O is
placed just above to the box N. Box S is placed just below
to the box T. There are two boxes placed between R and S.
Not more than two boxes placed between M and R. More
than three boxes placed between O and P.

TS T qTHT TH, T, 3T, U, 3, TR, TH 3R 2 Teh o 70
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Eight boxes i.e. M, N, O, P, Q, R, S and T are placed one
above the another but not necessarily in the same order.
Three boxes are placed between M and T. M is placed
either at the top most or bottom most position. Box O is
placed just above to the box N. Box S is placed just below
to the box T. There are two boxes placed between R and S.
Not more than two boxes placed between M and R. More
than three boxes placed between O and P.

Which of the following box is placed third from the
bottom?

(a) S

(b) Q

(© O

(dR

(e) None of these

P
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Eight boxes i.e. M, N, O, P, Q, R, S and T are placed one
above the another but not necessarily in the same order.
Three boxes are placed between M and T. M is placed
either at the top most or bottom most position. Box O is
placed just above to the box N. Box S is placed just below
to the box T. There are two boxes placed between R and S.
Not more than two boxes placed between M and R. More
than three boxes placed between O and P.

How many boxes are placed between O and Q?

(a) None

(b) One

(¢) Four

(d) Two

(e) None of these

\\
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Eight boxes i.e. M, N, O, P, Q, R, S and T are placed one
above the another but not necessarily in the same order.
Three boxes are placed between M and T. M is placed
either at the top most or bottom most position. Box O is
placed just above to the box N. Box S is placed just below
to the box T. There are two boxes placed between R and S.
Not more than two boxes placed between M and R. More
than three boxes placed between O and P.

The number of boxes placed between P and S is same as
the number of boxes placed between  and

R?

(A M

(b) Q

(¢c)N

dT

(e O
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Eight boxes i.e. M, N, O, P, Q, R, S and T are placed one
above the another but not necessarily in the same order.
Three boxes are placed between M and T. M is placed
either at the top most or bottom most position. Box O is
placed just above to the box N. Box S is placed just below
to the box T. There are two boxes placed between R and S.
Not more than two boxes placed between M and R. More
than three boxes placed between O and P.

The number of boxes placed above of the box O is same as
the number of boxes placed below to the box?

(AR

(b) Q

P

@dT

(e) None of these
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Eight boxes i.e. M, N, O, P, Q, R, S and T are placed one
above the another but not necessarily in the same order.
Three boxes are placed between M and T. M is placed
either at the top most or bottom most position. Box O is
placed just above to the box N. Box S is placed just below
to the box T. There are two boxes placed between R and S.
Not more than two boxes placed between M and R. More
than three boxes placed between O and P.

Four of the following five are alike in a certain way and
hence they form a group. Which one of the following does
not belong to that group?

(aA) M and Q
(b)Pand T
(c)Rand S
(d) Qand O
(e) Nand Q
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Seven different boxes namely D, E, F, G, H, I and J having
different no. of articles in it placed one above the other.
No. of articles is 3, 7, 10, 13, 17, 18, 20. The following
information is given below. There are two boxes between
G and the box in which there are 13 articles. Two boxes
are placed between D and the box in which there are 10
articles. There are only three boxes between H and the box
which have 10articles. G is placed below D. I is
immediately below the box which has 17 articles. D
doesn’t have 17 articles. Only one box is there between E
and J. There are two boxes between the boxes having 17
and 7articles. G lies above the box having 13 articles. The
difference between no. of articles in boxes G and just
above G is 13. The number of articles in the box which is
just above J is less than the no. of articles in J. E does not
have 7 no. of articles.
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There are two boxes between G and the box in which there are 13
articles. Two boxes are placed between D and the box in which
there are 10 articles. There are only three boxes between H and the
box which have 10articles. G is placed below D. I is immediately
below the box which has 17 articles. D doesn’t have 17 articles.
Only one box is there between E and J. There are two boxes
between the boxes having 17 and 7articles. G lies above the box
having 13 articles. The difference between no. of articles in boxes G
and just above G is 13. The number of articles in the box which is
just above J is less than the no. of articles in J. E does not have 7
no. of articles.

Find the pair of articles and boxes which is not correct?
a) E-18

b) 1-132
¢) D-33
d) J-74

e) None of these
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There are two boxes between G and the box in which there are 13
articles. Two boxes are placed between D and the box in which
there are 10 articles. There are only three boxes between H and the
box which have 10articles. G is placed below D. I is immediately
below the box which has 17 articles. D doesn’t have 17 articles.
Only one box is there between E and J. There are two boxes
between the boxes having 17 and 7articles. G lies above the box
having 13 articles. The difference between no. of articles in boxes G
and just above G is 13. The number of articles in the box which is
just above J is less than the no. of articles in J. E does not have 7
no. of articles.

Box D contains how many articles?
a) 17

b) 18

¢) 7

d 3

e) 13
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There are two boxes between G and the box in which there are 13
articles. Two boxes are placed between D and the box in which
there are 10 articles. There are only three boxes between H and the
box which have 10articles. G is placed below D. I is immediately
below the box which has 17 articles. D doesn’t have 17 articles.
Only one box is there between E and J. There are two boxes
between the boxes having 17 and 7articles. G lies above the box
having 13 articles. The difference between no. of articles in boxes G
and just above G is 13. The number of articles in the box which is
just above J is less than the no. of articles in J. E does not have 7
no. of articles.

How many articles are there in box ‘G’?
a) 13
b) 17
c) 20
d) 18

e) Can’tbe determined



] @Reasoningbybasantsir

There are two boxes between G and the box in which there are 13
articles. Two boxes are placed between D and the box in which
there are 10 articles. There are only three boxes between H and the
box which have 10articles. G is placed below D. I is immediately
below the box which has 17 articles. D doesn’t have 17 articles.
Only one box is there between E and J. There are two boxes
between the boxes having 17 and 7articles. G lies above the box
having 13 articles. The difference between no. of articles in boxes G
and just above G is 13. The number of articles in the box which is
just above J is less than the no. of articles in J. E does not have 7
no. of articles.

How many boxes is/are there between G and 1?
a) One

b) Two

¢) Three

d) Four

e) None
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